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— . Show that the following equation is valid:
A'BC’DHA+BCYA+C’D’)+BC’D+ABC’
=ABCD+A’C’D’+ABD+ABCD’+BC’D (20%)

= Find a minimum sum-of-products expression for
F(a,b,c)=2m(0,1,2,5,6,7) (20%)

=. Find a network of AND and OR gates to realize
f(a, b, ¢, d)= 2m(1,5,6,10,13,14) (20%)

9. Realize f(a, b, ¢, d)=Zm(0,3,4,5,8,9,10,14,15) using 3-input NOR gates.
(20%)

%. A sequential network has one input (X) and one output (Z). The network
examines groups of four consecutive inputs and produces an output Z=1 if
the input sequence 0101 or 1001 occurs. The network resets after every four
inputs. Find the Mealy state graph. (20%)




